3-Digit Minus 1-Digit Subtraction (C)

Name:

Date:

757 — 4 =
825 —7 =
471 -2 =
421 -9 =
359 — 1 =
133—4 =
970 — 7 =
667 —1 =
123 -8 =
938 — 3 =
998 — 8§ =
921 — 6 =
602 — 2 =
856 — 7 =
284 —9 =
303 —2 =
507 — 3 =
636 — 9 =
407 -3 =
857 — 3 =
916 — 9 =
993 — 7 =
856 — 4 =
382 —2 =
450 — 5 =

Calculate each difference.

714 -7 =

112 -9 =

347 -9 =

575—-6 =

101 — 8 =

875—1=

102 -3 =

204 -9 =

271 —4 =

627 —3 =

773 — 6 =

698 — 3 =

998 — 5 =

396 — 4 =

639 —1 =

496 — 2 =

415—-1=

578 —8 =

681 —9 =

132 -2 =

238 —7 =

388 —8 =

226 —5 =

435 —8 =

123 -2 =

Score:

Math-Drills.com




3-Digit Minus 1-Digit Subtraction (C) Answers

Name:

Date: Score:

757 — 4 =
825 —7 =
471 -2 =
421 -9 =
359 — 1 =
133—4 =
970 — 7 =
667 —1 =
123 -8 =
938 — 3 =
998 — 8§ =
921 — 6 =
602 — 2 =
856 — 7 =
284 —9 =
303—2 =
507 — 3 =
636 — 9 =
407 -3 =
857 — 3 =
916 — 9 =
993 — 7 =
856 — 4 =
382 —2 =
450 — 5 =

Calculate each difference.

753 714 -7 = 707
818 112-9= 103
469 347 -9 = | 338
412 575—-6 = | 569
358 101 -8 = 93
129 875—1= | 874
963 102-3= 99
666 204 -9 =195
115 271 —4 = 267
935 627 -3 = 624
990 773 —6 =767
915 698 —3 = | 695
600 998 —5 =993
849 396 —4 = 392
275 639 —1= 638
301 496 —2 = 494
504 415—-1= 414
627 578 —8 = 570
404 681 —9 = 672
854 132 -2 =130
907 238 —7= 231
986 388 —8 = 380
852 226 —5= 221
380 435 -8 = 427
445 123 -2 =121
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